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EQQO8WD

Marking Scheme

SUMMATIVE ASSESSMENT - | (2014-15)
Mathematics (Class — 1X)

General Instructions:

1.

2.

3.

The Marking Scheme provides general guidelines to reduce subjectivity and maintain uniformity.
The answers given in the marking scheme are the best suggested answers.

Marking be done as per the instructions provided in the marking scheme. (It should not be done
according to one’s own interpretation or any other consideration).

Alternative methods be accepted. Proportional marks be awarded.

If a question is attempted twice and the candidate has not crossed any answer, only first attempt be
evaluated and ‘EXTRA’ be written with the second attempt.

In case where no answers are given or answers are found wrong in this Marking Scheme,

correct answers may be found and used for valuation purpose.

EUus-3 / SECTION-A

9 &I 1 44 H Ik Rl 1 37 ¢

Question numbers 1 to 4 carry one mark each

l 72)(1 l 1
U6) 2 =(36 *)* =36 * =36 2
1
(36] 6
8y —125x% = (2y)3 — (5x)° 1

= (2y — 5x) (4> — 10xy + 25x?)



3 No, because ZA + Z/B+ £C=220° > 180°

4 I quadrants

Eus-o / SECTION-B

9 G 59 10 H TS 1 2 37 B

Question numbers 5 to 10 carry two marks each.

5 0.230769...
13 ) 3000000

26
40

120
117
3

3
— = 0.230769
13

This decimal expansion is non-terminating recurring.
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6 Identity : (a+b)2 = a2 + b2 + 2ab
(10)2 = a2 + b2 + 32

a2 + b2 = 68

7 ZACB=180°— (90° +40°) = 50°
ZADB=180°— (90° + 40°) = 50°
/ACB=/ADB

BD =BC or ABCD is isosceles

8 AC=DC, CB=CE (given)
Adding, AC+CB=DC+CE
= AB=DE

Euclid’s axiom : If equals are added to equal, then wholes are equal.

9 Let sidesof Aarex, xand x + 7
Ix+7=70=>x=21
Sides are 21, 21 and 28,s = 35

Formula of area

Area of A \/35 X 14 X 14 X 7 = 98+/5 m?2
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10

11

12
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Analysing, and find the abscisa as 2
Finding the ordinate as 7

EUS-H / SECTION-C

9 HE&AT 11 920 § Y 1 3 3k B

Question numbers 11 to 20 carry three marks each.

ST
a+§~=3—2JE+3+2J5=6
a—§=3—2\/2_—(3+ 242) = = a2
a3
ST

“){@) (") J

=3[3-32]

= 3[3-9]

= 3[-6] =-18

XP—y? =224 2yz+x+y—z=x>—(y>—2yz+2%) +(x+y—2)

=()?=(y=2)*+(x+y—2)

=(x+y—2z)(x—y+z) +1(x+y—2)



=(x+y—2)(x—y+z+1)

14 _
x 71 3x4_4x3_3x_1(3x3_1x2_1x_4
3 x4_ 3x3
(™) &)
- 19:34'0x2
—1x° + 1%
() (7)
_1x2_ 3x
- 1x2 + 1x
(t) (™)
“4x~ 1
— 4x t 4
(t) (=)
-5

~. Quotient = 3x3—x2—x—4

Remainder= —5

15 ZAOC = 2 /DOC T 2«x

Z/BOC = 180° — 2«x

1 o
ZCOE = — ZBOC = 90" ~ «x
2
16 Given, to prove, figure

Correct proof
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17 A G B
135°

A
A 4

E >H

-

C F D
Draw EH||AB. Then

ZAGE=/GEH and ZCFE=/FEH ................. 1
-.x=/GEH + /FEH= Z/AGE + /CFE - () oo,
But ZAGE +135°=180° /CFE+125°=180° ................... Vs
. ZAGE=45°, ZCFE=55° ................... 7

Hence from (i)
x=45°+55°=100° ................... Ya

18

A
N
)N\C
=N~
)
A 4 A 4

SX=Z s (I Y2
Similarly

z=/ZEGH .. Y2

Also ZEGH +y=180°

~y=180°—-z

Then y=180°—x [Use (1)]  ....ccccevinnninn 2
x+y=180° ------------ (2)

Butx:y=5:4

Let x=>5r and y=4r. Then (2) gives ~  ................... Ya
- 5r+4r=180°

~r=20° gives x=100°, y=80°.

~z=100° 1
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13 14

E L
D < »C

15
< 25

Y

Draw BE || ADand BL 1 EC

In ABEC,s = 21
Area (ABEC) = 21X 6x 7% 38

= 84 m?

Also area (ABEC) = = x 15 x BL = 84

84X 2 56
15 5

= BL =

Il
| =
—~
[ERY
(e}
+
N
Q1
N
X

Area trapezium

20 P=15cm
Area= /15(15 = 5)(15 = 12)(15 ~ 13)

=30 cm’
Shortest altitude is on longest side

Longest side=13 cm .. Area= L x13 xaltitude
2

60
.. Area= —cm=4.6 cm
13

Eue-7g / SECTION-D
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9 HE&AT 21 U 31 H YIS 1 4 3k B

Question numbers 21 to 31 carry four marks each.

21 Rationalise the denominator of each term

3 _ 205\ . B2

352

2 1
Vit B (BB (B (2
2=y, -2 A2

4 1 Z
NN RN RN RN R/

=0

22 - Jpt2q * \Jp~2q " Jpt2q * \p~2q
Jpt2q ~ \p72q  pt2q T \Jp~2q

[Jorza * fpr2a ]

pt2q = pt2q

1

= — [ptagtp2q+2 Jp?-4q> |
4q |_ J
1

= — rp’Lx/pZ“l g2 |
2q |_ J

= 2 _ 2
2q x p—\/p 4q

Squaring on both the sides,

= 4q2x2+}>’2/_4pqx=}/2/_4q2

Dividing both sides by 4q

gr2—px+q=0= qx2+q=px
=q (x2+1)=px.

23 p(x)=x"—12x*+17x +30

p(—1)=—1-12—-17+30=0
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= x+1is a factor of p(x)

X
P = 2 - g5, 4 50

x*—13x+30=(x—10) (x—3)

p(x)=(x+1) (x—10) (x—3)

24 Let a+b=A,b+c=Bandc+a=_C
We know that
2,2

A3+83+C3—3MBC=(A+B+C) (A2+B2+C2—AB—BC—CA)
(ie) (@+b>+(b+c)3+(@+c)—3(@+b)(b+c)(c+a)
=(a+b+b+c+c+a)x ((a+ b)z + (bt c)2 +(ct a)z —(@*tb)ybto)~(b+c)cta)~(cta)a™t b))

=[2(a+b+c)][a%+2ab+ b2+ b2+ 2bc+c2+aZ+2ac+c?—(ab+ac+ b2+ bc)— (bc+ab+c+ac)
—ac+bc+aZ+ab)

=2(5)[2a% + 2b% +2c2 +2ab + 2bc + 2ca — ab—ac — b%Z —bc —bc —ab — cZ2 —ac — ac — bc — a2 —ab]
=10 [a% + b2+ c? 4+ 2ab + 2bc+ 2ca — 3ab — 3ac — 3bc]

=10[a%+ b2+ c2+(—ab) —bc—ac]

=10 [(a+b+c)2—2ab—2bc—2ac—ab—bc—ac]

=10[5%—3 (ab + bc +ca)]

=10 [25—3(15)]

=10 (25 —45)
=10 (—20)
= —200
25 Let fx)=x3+2x2—5x—6
f(—1)=(—-1)3+2(-1)2-5 x (—1)—6

=—1+2+5-6=0
= (x+ 1) is a factor of f(x)
The factors of the constant term of p(x)are = 1, = 2, =3 and =6
f(2)=23+2(2)>-5(2)—6
=8+8—10—6
=0
= (x—2) is a factor of f(x)
f(—3)=(—3)3+2(—3)2—5(—3)—6
=—-27+18+15-6
=—-9+9=0
= (x+ 3) is a factor of f(x)
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since f(x) is a cubic polynomial, it can have only three factors
X+ 2X2—5x—6=(x+1) (x—2) (x+3)

26 x+1isafactorasp(—1)=0

X34 13x2 +32x+20=x3 +x2 + 12x2 4+ 12x+ 20x + 20

x2 (x4+1)+12x (x+1)+20 (x+1)

(x2+12x+20) (x+1)

= (x+10) (x+2) (x+1)

27 Kindness, Humanity, Responsibility towards the society, Compassion, Empathy

S

P 135°

T Q R
ZSPR+ ZQPR = 180° (Linear Pair)
ZQPR=180°—135°=45°
ZPQT + ZPQR = 180° (Linear Pair)
ZPQR=180°—-110°=70°
In APQR
Z/PQR+ ZQPR + ZPRQ = 180°

ZPRQ=180°— (70°+45°) = 180° — 115° = 65°

28 Given, To prove, Figure ~ .................. 1%
Correct Proof 2
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29 D

correct

figure 1

3

1 2
B C
Given AABC is isosceles with AB=AC  ................... 2
Also in the figure AB= AD (given)
. AC=AB=AD
In AABC
/1= /2 (angles opp. to equal sides)
Also ZDAC= /1+ /2 (ext. angle of AABC)

=272 Y2
Again, In AACD, AC=AD
nL3=/4
3+ /4+ ZDAC=180° (angles of AADC) ................... 2
5 2£3+222=180°
Z3+/2=90° . Y2
L ZBCD=/3+22=90° 1

. ABCD is right angled triangle

30 ZFEC=ZECD=10°
(alternate angles are equal) ................... k)
ZBCA=90°
ZBCD + DCA =90°
10°+ ZDCA =90°

ZDCA=80° . 1
AC=DC

ZDAC=ZADC=50° ....ccccevvrennn.n. 2
In ABAC

ZA+ 2B+ ZBCA =180°

50°+ ZB +90°=180°

ZB=40° 1
In ABDE

ZB+ ZBED + ZBDE =180°
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40°+90°+ ZBDE =180°
ZBDE=50° .l 1

31 Extend AD to E such that AD = DE ................... 1
A

172

E
In AABD and ACDE

AD =DE (By const.)

BD=DC (given)

Z ADB=ZEDC (V.O.A)

AABD =ADCE (SAS) ... 1Y%a
Z 1=/ 3(cpct)

and AB=CE (cpct)
But £ 1= £ 2 (given)

=/2=/3

= AC=CE ... 1

(Side opposite to equal angles are equal)

But AB=CE (Proved above)

=AB=AC . 1

-.AABC is an isosceles triangle
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